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QUESTION 1

Which of the following gives a good initial estimate for the physical log size?
A. 110% ofrootdbs.

B. 110% the default buffer pool.

C. 110% of the logical log space.

D. 110% of combined buffer pool.

Correct Answer: D

QUESTION 2

Given the two indexes defined on table tab1:

index idx1 on tab1(c1)
index idx2 on tah1{c2)

And the following query.

selectc1,c2 from tab
where ¢l =1 and cZ between 20 and 30

Which optimization method may be used?
A. STAR_JOIN

B. MULTI_INDEX

C. OUTER_INDEX

D. INDEX_SELFJOIN

Correct Answer: B

QUESTION 3

A Connection Manager is started with the following Service Level Agreement:
SLA report=(SDS+report_server)

Where will a connection to the report SLA be redirected?

A. Any available SDS (Shared Disk Secondary) server, thenreport_server.

B. Report_server, then any available SDS server.
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C. Report_server, then the SDS server with most available resources.
D. The server with the most available resources in the SLA list, including all SDS servers andreport_server.

Correct Answer: D

QUESTION 4

To maximize the performance of your OnBar backup and recovery operations, what should you do?
A. Use a commercial storage manager.

B. Use the bundled Informix Storage Manager (ISM).

C. Use a combination of disk-based and tape-based backup devices.

D. Use separate storage devices for instance spaces and logical logs.

Correct Answer: D

QUESTION 5

Which parameter is used to configure the servers in a high-availability cluster so that transactions complete after
failover?

A. SURVIVAL_TX_ENABLE
B. FAILOVER_CALLBACK
C. SURVIVAL_TX_TIMEOUT
D. FAILOVER_TX_TIMEOUT

Correct Answer: D
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